Worksheet 10 Year 5 29.6.20

How do we use methods?

1.1,043,392 + 2,439,032 =

2.1,329,420 - 183,279 =

3.2142 x 8 =

4.7739+3 =

5.1,353,732 + 1,567 =

6.270,834—-2,718=

7.999 x4 =

8.1863 +5=

9. Village A has 329,403 people living there. Village B has 254,901. How
many people live in both villages?

10. How many more people live in village A?
11. | have £20.00 pocket money. How much can | spend each day?

12. There are 25 bags of sweets. Each bag has 18 sweets in. How many
sweets are there altogether.

USE THE SQUARED PAPER FOR YOUR WORKINGS OUT









